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Section A : {30 x 2 marks

For each question from 1 te 30, four aplions are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2,
3 or 4) on the Optical Answer Sheet provided,

1, The diagram Below shows a U-shaped magnel

Which pait of the magnel has the strongest pull?

- (1) A :
@B - i
(3) C -
(4) D

2., Alan was losl in a jungle during a hiking trip. He suspendad a magael in
the air as shown,

AL 3

What was he trying to do with the magnet?

{1} Altract other magnels.

(2) Find the right direction.

(3) To strengthen the magnet.
(4) Find oul the lime of the day.



A magnet will Jose ils magnetism when il is being

hammered by a hammer

heated under a hot flame

stroked with a piece of wood

dropped from a certain height repeatedly

Powe

(1) A and 8 only -
(2) C and D only T -
(3) A, Band D only

(4) All of the above -

Which one of the foliowing rods will be able to attract the most number of
paper clips? - B

1y @)

- : C

steel rod steel rod
(20 coils) (30 coils)
3) (4)
¥
steel rod copper rod
(20 coils) (40 coils)



H
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Which one of the following will not show either 3 pushing or g
puliing force when the magnet is moved {owards the item?

(1) f@ AT ™

magnet Magnetised iron rod

I e

magnet steel paper clip
R i

magnel copper wire B
L

magnet ron nail

Which one of the following objects does not make use of magnets?

(1) Battery

(2} Telephone

{3} Refrigerator

4 Metal door stopper




Meiling put 2 objects, X and Y, on a lever and the resuit is shown in the
diagram below.

She then ptaced Object B directly below Object Y as shown in the diagram
below and noticed that the lever was now balanced.

Object Y

Object B

What could have caused the lever to be balanced?

(1) Object X puils Object Y.

(2) Object X is heavier than Object Y.

(3) The mass of Object X and Y are equal.

(4) The like poles of Objects B and Y are facing each other.



8 Four dilferent objects, A, B, C and [, are hung from a rod as shown below.
The north pole of a bar magnel is brought near the end of each object,
marked X and Y

[ - e T - T —

e e g——

bar magnet

X Y x v] [x v X ¥
*é A (1] c 8]
i

The lable below shows the observalions inade during the experiment.

- =

Object Observations o
= Narth Pole and X -North Pole and Y
A atlract allract
B T repel atirac
c no reachon T noreaction
D " aliract T repel

Based on the above observations, which of the following conclusion isfare
correcl?

(1) C = made of iron.

{2) B and D are magnets.
(3} A s made of aluminium,
(1) A, B and D are magnets.




A nail is magnetised by using the touch method, as shown below. The nall

Is then suspended from a string. A magnet is brought near the nail.

f*\

- Which one of the following correctly shows what happens when the

magnet is brought near the nail? -

(1

)
p—— [ 5]

Ne -
N S
(3)
0)};3::» N S
@ |
@ S N




10.

11.

12.°

Which one of the following is not a matter?

(1) Ink
(2) Clay
(3) Sound

(4) Water vapour

Rashid took an emply glass, inverted it and pushed it into a basin of water
as shown in the picture below. He noticed that a small amount of water

- enlered the glass.

Inverted glass

Water

fhis shows that aijr

(1) has mass

(2} can be compressed
(3) has a definite shape
(4) has a definite volume

Study the classification table below carefully.

Wooden block ' Water Carbon dioxide
Flour plasticine Water vapour

Based on the classification tahle above, which one of the following objects
has been grouped wrongly?

(1) clay

(2) flour

(3) plasticine

(4) water vapour




13.

A4,

P, Q. R and S are matters with the characteristics shown by a lick (v') in
the table below.
e |FTaT
Occupies space ) 1Y
Can be compressed v
Takes the shape of the container it a;
isin - i
Based on the information above, where should Objects P and Q be
, classified in the flowchart below?
) Has a Has a
Yes . Yes
Matter definite definite -*—P
shape volume
No
Object P Object Q
(1) A B
2) 8 C ]
(3) C 0 .
{4) D e A

Alice tried to fit a book into her jewellery box but she couldn’t. But when
she tried {o fit a sponge into the jewellery box, she found that she could fit
the whole sponge in it. What could be the reason?

(1) Sponge is not a solid.

{2) Sponge can be compressed.

3) Sponge has no definite shape and size.
(4) Sponge contains air that can be removed.



The statements below list out the characteristics of sohd, liquid and gas.

A All of them have mass.

B Only solid has a definite shape.

C: Ali of them can be compressed.

D Only soft solid can he compressed

Which of the foliowing statements above s/ are true?

(1) A only

(2) A and B only

- (3) C and D only
(4) A, B and D only

The diagram below shows 4 syringes filled with different matters.

plunger

Syringe

Which plunger can be pushed in?

1 A
2) B
(3} C
4 D




filled a tube with water as shown belo

S

——~

(1)

W

_

3)

//

o~

S %//////////%

_

0/////

P////

-10-



18.

The diagram below shows 3 piece of cork floating in a trough of water.

Plastic cup is

water,

Floating cork

inverted over the cork and held down into the trough of

Which one of the diagrams above shows the correct position of the cork?

(1}
(2
(3)
)

A

B
C
b

“11-




19.

20

21.

Sitt poured 10g of salt into each of the 3 different containers as shown
below.

salt

At the end of her experiment, she concluded that

A: Salt has mass.

B: Salt takes up space.

C: Salt can be compressed.

D: Saltis not a solid as it has no definite shape.

Which of her conclusions are correct?

(1) Aand B only
(2) Cand D only
(3) A BandC only
4) A B CandD

Which one of the following objects does not allow any light to pass
through? |

(1) Mirror

(2) Glass bottle

{3) Tracing paper

(4) Clear plastic sheet

Which of the following is not a source of light?

(1) Sun

(2} Battery

(3) Light bulb _ -
(4) Burning candle '

12-



22, A ball was placed in the middle of a card board box as shown in the figure
below, Four lubes, A, B, C and D, were placed in the box. Which of the
tube({s) enable{s) us lo view he ball?

T lube

mirror
(1) Aonly
{2) Bonly u

{(3) C only
(4) C and D only

23, The picture below shows a room. Shawn is in one roem and Leny in

analher.

Leny .__ _-—-H _‘I-.{I o
G L
”~ 0 |

-

Where on the wall A, B, C or D should a mirror be placed so thal Shawn
can see Leny in the other room from where he is?

m A

(2) B 5
@ ¢

4 D



24, Study the diagram below carefully.

Torch O\ /?
AN .
\\2 ;
PR
Ray of light Cox
from torch . R
“

n mirrar

Which of the paths A, B, C or D, will the ray of light from the {orc;i take

after hitting the mirror?

(M A
(2)B
(3} C
(#D

25.  Study the classification chart below.

Materials

{

' Hard

Soft

Translucent

Opaque

Translucent

[°

C

Where would you place the blue ‘cellophane paper?

(1} A
(2) 8
3dC
4) D

-14-
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Jennifer carried out an expenment to find out whether the position of the
torch would affect the length of the shadow cast by the pencil. She marked
the table with four points, W, X, Y and Z, in front of the screen, She then
placed the torch and the pencil as shown below.

- 13cm

W X pencil Y Z screen

She noticed that the length of the shadow cast on the screen by the pencil
was 13cm. She then placed the torch and pencil at different positions and
recorded down her observations in the table below.

Which of the following could be the corréct observation?

|| Positionof | -
torcht o |

(1) w

(2) X

3) Y _

4) X ]

-15-




27. Fandi shone a torch at a tennis balf and a rectangular piece of
transparency as shown below. A shadow was cast on the screen.

torch Tennis ball

Which one of the following is the shadow most lfikel

objects on the screen?

(1) 2

3 “)

16-

-

Clear transparency

-

y cast by the two

screen



28.

29.

Maria placed a candle and two cardboards on a table as shown below,
Each of the cardboard has a hole.

hole card board

P = >( card board
) o] Q

' A

Maria's eye

Lighted candle B

Maria cannot see the light from the candle flame when she looks through

the holes in the two cardboards because .
_———“*‘_*—h———_

(1) the candle is too thin

{(2) the cardboards are too thick

(3) the holes on the two cardboards are too smal

(4} the holes on the board are not aligned in g straight line

Which of the following animals have a life cycle similar to the chicken?

Az Frog

B: Butterfly

C: Cockroach
D: Grasshopper

(1) Bonly

(2) AandB only
(3) A,BandC only
(4) A, CandD only

-17-




30.  Study the flow chart shown below carefully.

Animais

Does it 1ay
eqgs”?

Does it have
a 3-stage life
cycle?

What can the animals X, Y and Z be?

X Y Z

{n Cow Duck Moth

2) Horse Frog Grasshopper
(3) Grasshopper Duck Cow

(4) Duck Moth Butterfly

T END OF SECTION A **+=.

-18-
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Section B: 40 marks

For questions 31 to 46, write your answers in this booklet.

The number of marks available is shown in the brackets [ 1atthe end of
each question or part question.

31. The diagram below SFI__C-)M:IS two magnets positioned on the pencils.

When both the magnets were brought close to each other, they moved
away from each other.

(a)  Label the poles of the Mmagnets on the diagram above. [1]

{b} What property of inagnet dces this ekperiment show? i1

19



32. Boon Kiat conducis an ex

thickness. He moves each
helow.

periment using four bar magnets of differes

gl
magnet slowly towards 3 paper clip as show

n

Magnet A
/:;:L_ /
T
///@T’L,j Paper Clip
S ‘\\\_‘l—j - .
, P =
' g T
L_ﬁ_]__" r_{,J__JL!_‘ i .- Ruler
(a) What is the aim of his expertiment?

[2]

He then measures the distance at whj
magnet and records it down in th

ch the paper clip is attracted {o the
e lable shown below.,

(b) Based on the information in t

he table above, what is the relationship
between the thickness of the

magnet and its magnetism?

[2]

-

20




33. Classify the following objects according (o their magnetic properties.

(3

Steel fork Iron rod copper wire

alumintum foil plastic ruler wooden chopsticks f
U |

. #sNon-magnetic objects

34. Three containers, S, T and U, are pumped with 300 cm?® of air each as
shown in the iable below.

(a) In which container is the air compressed? i1

(b)  Will container S be completely filled with air? Explain your answer.
[1]

A



35. Lily wanted tc transfer some shampoo from

a bigger bottle into a smaliler
plastic bottie as shown in the diagram below,

-/ T~

1 T

I

i

Funnel _____\fiﬁ \
Smaller hottle —! ]

(8)  What would happen when she co
when the smailer bottie is full?

Kﬁ_%___ Big botlle of

shampoo

nlinues to pour the shampoo

[1]

(b)  What property of liquid does this show you?




36. Karnsiah filled a glass cylinder with some water. She noticed that the water
level in the jar rose each time she put in a marble. The diagram below
shows the water level after a different number of marbles were put into the
glass cylinder.

W
o

o
[

i

EHIHHE

nlig,

e

[A]

o
[
o

IJH|IHJ}U
T

20
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[

{a) Draw the new water level in the giass cylinder above when she put in
4 marbles. 1

(b} What does this show you about the properiies of the marble?

{1




Jonathan seals gne end of a straw wi
some water as shown below.

1?_6:@@

- Straw

th his finger and pushes the st

faw inio

Diagram A

DiagranT—Z'

(a} He realized that the water does not fill the straw. Explain why this is
sQ7?

i2]

(b) What tnust Jonathan do if he wantis the straw to be filled with water?.

1

24




38.

Jamilah carried out an experiment 1o find out whether light can pass through
certain materials. She sef up the experiment in a dark room.

ot e

3:,:) S
\ ‘_]/}\(
' Torch D\J \Q o~ 3

- —_— ]

She arranged 4 sheels of different matenais, P, ¢, R and S, one beﬁiﬁd
another in a straight fine. She also cut a hole in sheet P before shining the
torch through the hole. She observed a bright star-shaped pafch of light an

sheet R, -

Tick (V) in the tabie below, ltie-'p}operties of the matedais that sheels, P, Q,

Rand g, are pessibly made of? [2
| ! Allows light | Does notf aiiow P, ]
. t NGt possible
Materials to pass ] light fo pass to tell
- { _through | through - 3
P 5 |
;‘ ]
Q | :
R !
{
S |
S N

L]
w



38. Kumar conducted an experiment to investigate ihe amount of fight that can
pass thiough three materials, X. Y and Z of the same thickness. He shone 3
torch through the three materials. He used a light sensor to measure how

much light has passed through each of them.

He drew a graph to show the amount of light recorded oy the light sensor.

A
Material X
~Clear plastic shaet
Amount of
fight Material Y

recorded T _

Material Z

.
1l

Time

(a) Based on the graph above, which materal, X, Y or Z. is maost suitable
for making the window of a room that is along a corridor? {11

{b) Explain your answer in {a). | [2]

26




40. Sludy lhe diagram below carelully.

i = e

L]
TEE S

i E—

f

{a) - Draw artows lo represant the path aken by light in the piciure above
& to show how Jaya is able lo see the booX i

i{b) What property of lighi allows Jaya to see the book? i1}




41, Tanya shone a torch at her doil and obsenved the shadow that is formed on
the screen as shown below.

AN

N

NN

SCrecen

1

She realised that the shadow of the doll is big and not sharp.

(aj Without moving the torch, what can she do o make the shadow of
the doil sharper? | ) 111

()  How is a shadow formed? {1}

28




42. Study the tife cycles shown below caretfuily.

Seed

L /Egg\

Adult ~—-——-— Seedling Adult +—————— Nymph

Life cycle A

Life cycle B
(8}  Siale one similarity between the twoife cycles. _ n i
(b)  State one difference between the two life cycles. 1]

IP)

{C)  Name an organism which has life cycle B.

—
-k
onat

29



43. Amelia carries out an experiment as shown below.

A B C D
moist — dry cotton
e cotton woa! = , woal
moist _ @ \ dry cotton /b\.ij
collon wool wool
Gelow 0° C Roem Below G2 C fRoom
temperature -temperature
25° C 25° C
(@) Inwhich of the set-ups will the beans germinate? {11
(b) Exptain your answer in (a). {1}

30




44.  Study the flow chari below carefully.

,/'//
l ' Young lives No
Start — in water? ‘*] D !
. ‘ \\ ' L | I
Yes

Young feed
on milk

{a} What is the similarity between Animals A and 8? {1
(b} Based on the flow chart, which aniﬁal could A, B, C and D be? 2]
@) Chicken:
(u) Frog
(i)  Guppy :
{tv) Goat




45,

Study the life cycle below carefully.

Lifecycle of a
mosquito

Life cycie of a
butterily

(a) State one difference between the larval slages of the two life cycles.
) ) (1

(b) State one similarity between the life cycles of the mesquilo and the
butterfly. [1]




46.

Study the diagram below carefully .

(a) Arrrange the stages in the correct order of growth by wﬁﬁng the letlers,
A, B, C and D, in the boxes below, 2]

{b)  Atstage D, where does the seedling get its food?

— £nd of Paper —-

L)
W)
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33)Madtietic objects .

Steel:fork
Iron‘rod

Saya)Conitaitir U.,

b)Yes. Because air have nd definite volumé:

3’5)a)The shampoo
b)It has a defini

36)a)40mi

b)Marble occup

will over:flow.
B S5 N
te VOIume_ Qe

ies _Sﬁ;‘:lée and has a definite volume.
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37)a)The air occupies space therefore preventing the water from
going in.

o¢es not allow light to pass through.ﬁ'
Now light to pass‘through.

b)The young
c)Crock roach

43)a)Set-up B will gerriinate.
-~ b)It hasthe righttemperature and it has water.

44)a)They both do not lay eggs.
b))D ii)C iii)A iv)B

page 2 .




45)a)The lava of the mosquito lives in water but the larva of a

butterfly lives on land.

b)They have four stages in their life cycles.

46)a)C>a>D>BSE
b)It gets its food from the seed leaves.
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